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Question 1
Question Type: MultipleChoice

You need to populate a fact table with the corresponding surrogate keys from each dimension table

Which two steps accomplish this task? (Choose two.)

Choose 2 answers

Options: 
A- the 'Combination lookup/update' step

B- the Dimension lookup/update' step

C- the 'Select values' step

D- the 'Filter rows' step

Answer: 
A, B

Question 2



Question Type: MultipleChoice

Which two PDI steps are used to parse XML content? (Choose two.)

Choose 2 answers

Options: 
A- the 'XML Join' step

B- the 'Modified Java Script Value' stop

C- the 'Get data from XML' step

D- the 'Add XML'step

Answer: 
A, B

Question 3
Question Type: MultipleChoice



Which two steps in a transformation allow variable values to be used throughout the rest of a PDI job? (Choose two.)

Choose 2 answers

Options: 
A- the 'Set Variables' step

B- the 'Select values' step

C- the 'Table inpuT step

D- the Modified Java Script Value' step

Answer: 
A, D

Question 4
Question Type: MultipleChoice

Which statement is true for a transformation?



Options: 
A- Transformation steps are executed in parallel.

B- A transformation must have a start step.

C- A transformation step processes one row at a time.

D- A transformation step can have only one incoming hop and one outgoing hop.

Answer: 
B

Question 5
Question Type: MultipleChoice

You want to manage a slowly changing dimension as type II.

Which step in PDI should you use to accomplish this task.

Options: 



A- The 'Shared Dimension' step

B- The 'Dimension Lookup/update' step

C- The 'Combination lookup/update' step

D- The 'Table output step

Answer: 
D

Question 6
Question Type: MultipleChoice

You have a string field in your dataset where you need to extract characters 1-5 only.

Which two steps will accomplish this task? (Choose two.)

Choose 2 answers

Options: 



A- the Strings Cut step

B- the Siring Operations step

C- the Split Fields stop

D- The Modified Java Script Value step

Answer: 
A, B
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